Name:_____________________________________                                    Unit 2 – GSP – Slopes of Lines
Monica

Geometry Period:_____  

Date:____________________________

Directions: In this investigation, you’ll learn how you can use slope to tell whether lines are parallel or perpendicular.

1. Under the “Edit” menu, choose “Preferences”. Set Angle Precision to tenths, and the Other Precision to hundredths.
2. Construct 
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and 
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 and their point of intersection, E.

3. Measure 
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.  (Choose points A, E, and C, in that order, and then choose “Angle” under the “Measure” menu.)

4. Measure the slopes of 
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and 
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.  (Select each line (not the points on the line) and choose “Slope” under the “Measure” menu.)

5. Measure the equations of 
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and 
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.  (Select each line (not the points on the line) and choose “Equation” under the “Measure” menu.)  Notice where the slopes you measured in step 4 are in the equations of the line.
6. Drag point A and observe how the slope measure changes.  Drag point C and observe how the slope measure changes.

QUESTION #1:  Make the slopes as close to equal as you can.  What do you observe about the measure of the angle between the lines?  Why do you think this happens?

QUESTION #2: Write a conjecture (an inference based on what you observed) about lines with equal slopes.

7.  Calculate the product of the slopes of 
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and 
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.  (To do this, select “Calculate” from the “Measure” menu to open the calculator.  Clock on the slope of 
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, then select the * button for multiplication, then click on the slope of 
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.  Hit “OK”.)

8.  Make sure neither line is horizontal.  Drag the points to make 
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are close to 90° as you can.

QUESTION #3:  What is the product of the slopes of perpendicular lines?  Why is the product always negative?  (Hint: Look at the slopes of 
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and 
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.)

QUESTION #4:   The product of the slopes of two lines is undefined if one of the lines is vertical.  Why?

PART 2: Based on what you discovered in your investigation, answer the questions below.

1) The equation of a line is y = 4x – 6.

a. What is the slope of this line?

b. What is the slope of a line that is parallel to it? Why?

c. What is the slope of a line that is perpendicular to it? Why?

2) Show all of your work for the questions below.

a. What is the equation of a line that has a slope of 
[image: image15.wmf] and passes through the point (-4, 2)?

b. What is the equation of a line parallel to the equation you determined in part a, and passes through the point (2, 3)?
c.  What is the equation of a line perpendicular to the equation you determined in part a, and passes through the point (-1, 3)?

3)  If you’re given two points on a line, how can you determine the slope of that line?  What is the slope of a line that includes the two points (-4, 3) and (2, 1)?  What would be the slope of a line perpendicular to it?





















_1433592493.unknown

_1433592893.unknown

_1433592480.unknown

_1433592492.unknown

_1310904357.unknown

